Spicy
1. A Patio is to be built in the shape of the given isosceles triangle.
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2. Parallelogram ABCD has coordinates of A(0,6), B(9,6) and C (6, -2)
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Practice: Determine the area of the following triangles A = ½ bh
[image: ][image: ][image: ]Identifying the perpendicular height/altitude and base then solve for area
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Harder skills problems
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[image: ]Hint: Draw in the perpendicular height by splitting the triangle in half









[bookmark: _GoBack]
image5.png
Which of the following expressions would correctly calculate the area of the right triangle shown below?
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Parallelogram ABCD is shown below with AD =10 cm and AECF is a square with side a side length of 8
em. Determine the area of ABCD in square centimeters. Show how you arrived at your answer.
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A farmer uses fencing to divide a triangular piece of land 18m 26m
into two smaller triangles, as shown. What is the difference
in the two areas?
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(a) Why would the calculation 4

(22)(16) not result in the correct area of the triangle?

Determine the area of the patio to the nearest square foot.
® P 22 feet 22 foet

16 foot

(¢) If the patio is to be covered by stone that costs $12.25 per square foot, what will be the total cost of covering
the patio with stone?
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A rectangle has a length that is 4 inches longer than its width. s perimeter is 36 inches. Which of the
following i its area?
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(a) What are the coordinates of vertex D?

(b) Determine the area of ABCD. Show the calculation that
results in your answer. 5

D v v A e

(c) Which is the longer side, 4B or BC . Support your answer.
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And, of course, our friend trigonometry can also come into play.
Exercise #4: An isosceles triangle is shown below whose legs each measure 10 inches and whose vertex angle

measures 46°. We want to find the area of this triangle.

(a) Find an expression involving a trigonometric ratio for
the height of the triangle. Leave unevaluated.

10in 10in

(b) Find an expression involving a trigonometric ratio for
the length of the base of this triangle. Leave
unevaluated.

(¢) Determine the area of the isosceles triangle to the nearest
square inch.
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